

تکلیف ۱۴

آمارهای همبستگی

$t_{r^{n-1}}$

$$a_n = \frac{1}{r} \times \frac{1}{x^r} \times \frac{1}{x^r}$$

$$a_n = \frac{1}{r} \times r^{n-1}$$

سوال ۱

$$\frac{a_{14}}{a_{13}} = \frac{\frac{1}{r} \times r^{14-1}}{\frac{1}{r} \times r^{13-1}}$$

$$a_b = \frac{1}{r} \times r^{\frac{1}{1-1}} = 124 \checkmark = \text{الف}$$

$$\frac{\frac{1}{r} \times r^{14}}{\frac{1}{r} \times r^{13}} = r^1 = 14 \checkmark = \text{ب}$$

$$b^r = a.c$$

$$\frac{1}{r} \times r^{10} = 4 \quad \frac{1}{r} \times r^9 = 124$$

ج

$$b^r = 4 \times 124 \rightarrow b^r = 496 \Rightarrow b = \sqrt[10]{496} = 1.24 \checkmark$$

$$\frac{1}{r} \times r^{n-1} = 124 \rightarrow r^{n-1} = 124 \times r$$

$$r^{n-1} = 124 \rightarrow n = 9 \checkmark$$

$$\left. \begin{array}{l} t_a = 12 \\ t_1 r^4 = 12 \\ t_A = 94 \\ t_1 r^9 = 94 \end{array} \right\} \frac{r^9}{r^4} = \frac{94}{12}$$

سوال ۲

$$\Rightarrow r^5 = 1 \rightarrow r = 1 \quad \left. \begin{array}{l} t_a \Rightarrow t_1 \times r^4 = 12 \rightarrow t_1 = \frac{12}{1} \\ t_1 = 12 \end{array} \right\} t_{10} = t_1 \times r^9 = 12 \times 1^9 = 12$$

$$\Rightarrow t_n = 12 \times 12 = 144 \checkmark$$

$$a_1 \times a_1 r^1 \times a_1 r^1 \times a_1 r^1 \times a_1 r^1 = r^4 \epsilon^4 \quad (\text{سوال 3})$$

$$a_1 (r^1 \times r^1 \times r^1 \times r^1) = r^4 \epsilon^4$$

$$a_1 r^1 = r^4 \epsilon^4 \quad a_1 r^1 = a_{1r} \Rightarrow a_{1r} = r^4 \epsilon^4$$

$$a_{1r}^{\omega} = r^4 \omega \rightarrow a_{1r} = \sqrt[4]{r^4 \omega} \quad (\text{الف})$$

$$a_1 \times a_{1r} = a_1 \times a_{1r}^{\omega} = a_{1r}^2 r^{\omega} \quad a_{1r}^2 = r^{\omega} = a_{1r} \quad (\text{ب})$$

$$a_{1r}^2 r^{\omega} = (a_{1r}^2)^2 = r^{2\omega} = r^4 \quad (\checkmark)$$

$$(r^4 \sqrt{r})^2 = r^b \times r^a \rightarrow 14 \times r = r^{b+a} \quad (\text{سوال 4})$$

$$r^4 r = r^{b+a} \rightarrow r^5 = r^{b+a}$$

$$b+a=5 \rightarrow \frac{b+a}{r} = \frac{5}{r} \quad (\checkmark)$$

$$a_{1r} = 1-x \rightarrow a_{1r}^2 = 1-x \quad (\text{سوال 5})$$

$$a_{1r} = x \rightarrow a_{1r}^4 = x$$

$$a_{1r} = 1+x \rightarrow a_{1r}^1 = 1+x$$

$$\frac{a_{1r}}{a_{1r}^4} = \frac{a_{1r}^1}{a_{1r}^4} \Rightarrow r^{\epsilon} = \frac{x}{1-x} \quad \left\{ \begin{array}{l} a_{1r} = \frac{a_{1r}^1}{a_{1r}^4} \Rightarrow r^{\epsilon} = \frac{1+x}{x} \end{array} \right.$$

$$\frac{x}{1-x} = \frac{1+x}{x} \rightarrow rx = 1-x^2$$

$$rx^2 = 1 \rightarrow x^2 = \frac{1}{r} \rightarrow x = \frac{1}{\sqrt{r}}$$

لذا $x = \frac{1}{\sqrt{r}}$ - انی بیان کرنا چاہتا ہوں کہ r^{ϵ} سے نئی سہولت نکالنے کے لئے

$$\rightarrow x = \frac{1}{\sqrt{r}} \quad (\checkmark)$$

1 /

(سوال 4)

$$\begin{cases} t_1 + t_2 = 1A \\ t_1 + t_2 = 1A \end{cases} \quad \begin{cases} t_1 + t_1 r^1 = 1A \\ t_1 r + t_1 r^2 = 1A \end{cases} \quad \frac{t_1 (1+r^1)}{t_1 r (1+r)} = \frac{V}{W}$$

$$i.e., \frac{1+r^1}{r(1+r)} = \frac{V}{W} \rightarrow \frac{(1+r)(1-r+r^2)}{r(1+r)} = \frac{1-r+r^2}{r} = \frac{V}{W}$$

$$W(1-r+r^2) = Vr \rightarrow W - Wr + Wr^2 = Vr$$

$$Wr^2 - 10r + W = 0 \rightarrow \Delta = 100 - 4W = 48$$

$$r = \frac{10 \pm 1}{4} \rightarrow r = \frac{11}{4} \quad r = \frac{1}{4} \quad a = 1$$

$$a_1 \xrightarrow{r=\frac{1}{4}} 1 \quad a_2 \xrightarrow{\frac{1}{4}} \frac{1}{4} \quad a_3 \xrightarrow{\frac{1}{4}} \frac{1}{16} \quad a_4 \xrightarrow{\frac{1}{4}} \frac{1}{64}$$

$$\text{نوعی جواب نهایی} \quad r = \frac{1}{4}, r = \frac{1}{4}, 1 = 100 - 4W = 48$$

(سوال 4)

$$t_1 + t_2 + t_3 = 1W \rightarrow t_1 + t_1 r + t_1 r^2 = 1W$$

$$t_1 \times t_2 \times t_3 = 1V \quad t_1 (1+r+r^2) = 1W$$

$$\rightarrow \int a \cdot ar \cdot ar^2 = 1V$$

$$a^3 r^3 = 1V \rightarrow ar = \frac{1}{4} \rightarrow a = \frac{1}{4}$$

$$\frac{W}{r} (1+r+r^2) = 1W \rightarrow W(1+r+r^2) = 1Wr \rightarrow Wr^2 - 10r + W = 0$$

$$\Delta = 100 - 4W = 48$$

$$r = \frac{10 \pm 1}{4} \leftarrow r = \frac{10 \pm 1}{4}$$

$$r = \frac{1}{3}, a_1 = 1, a_2 = 3, a_3 = 9$$

اداء سوال ۷

$$r = \frac{1}{3}, a_1 = 9, a_2 = 3, a_3 = 1$$

$$1 \times 3 \times 9 = 27 \quad 1 + 3 + 9 = 13$$

جواب اول تا سوم ← $3, 9, 1$ ✓

$$a_n = 1, 3, 9, 27, \dots$$

$$a_n = 1 \times 3^{n-1}$$

سوال ۱۱

(الف)

$$S_n = a \left\{ \frac{q^n - 1}{q - 1} \right\} \Rightarrow 1 \left\{ \frac{3^{10} - 1}{3 - 1} \right\} = \frac{3^{10} - 1}{2}$$

$$3^{10} - 1 \quad \checkmark$$

$$P_n = a_1^n \times r^{\frac{n(n-1)}{2}} \rightarrow 1^{10} \times 3^{45} \quad \checkmark$$

(ب)

$$a_1^{10} \left(\frac{1 + 3 + 9 + 27 + 81 + 243 + 729 + 2187 + 6561 + 19683}{3^{45}} \right)$$

سوال ۹

$$(a_1 q - a_1), (a_1 q^2 - a_1 q), (a_1 q^3 - a_1 q^2), \dots$$

$$a_1 (q - 1), a_1 q (q - 1), (a_1 q^2 - a_1 q^2), \dots$$

t_1

t_r

$$\frac{A_r}{t_r} = \frac{a_1 q (q - 1)}{a_1 (q - 1)}$$

$$= q \quad \frac{t_r}{t_1} = \frac{a_1 q^r (q - 1)}{a_1 q (q - 1)} = q$$

$$q = d \quad \checkmark$$

(b) / 198

(c)

$$a, a+d, a+2d, \dots, a+(n-1)d$$

$$\left. \begin{aligned} S_n &= a + (a+d) + (a+2d) + \dots + [a+(n-1)d] \\ S_n &= [a+(n-1)d] + [a+(n-2)d] + \dots + a \end{aligned} \right\} +$$

$$\begin{aligned} \therefore S_n &= [a + [a+(n-1)d]] + [(a+d) + [a+(n-2)d]] + \dots \\ &\quad + [a+(n-1)d + a] \end{aligned}$$

$$a + [a+(n-1)d] = 2a + (n-1)d$$

$$(a+d) + [a+(n-2)d] = 2a + (n-1)d$$

?

$$[a+(n-1)d] + a = 2a + (n-1)d \rightarrow \text{Total } n \text{ terms}$$

$$\therefore S_n = n \times [2a + (n-1)d]$$

$$S_n = \frac{n}{2} [2a + (n-1)d] \quad (\checkmark)$$

(c)

$$a_1 + ar + ar^2 + ar^3 + \dots + ar^{n-1}$$

$$\{ S_n = a_1 + ar + ar^2 + ar^3 + \dots + ar^{n-1} \}$$

$$\{ S_n \cdot r = ar + ar^2 + ar^3 + \dots + ar^n \}$$

$$S_n - S_n r = a_1 - ar^n \rightarrow S_n(1-r) = a_1(1-r^n)$$

$$\Rightarrow S_n = a \left[\frac{1-r^n}{1-r} \right] \quad (\checkmark)$$